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3.6 Derivacién logaritmica

(1) Encuentre la derivada de las siguientes funciones.

(a) f(z)==zln(x). Rta.: In(z) + 1
oz o In(z) — 1
(b) f(x) = e Rta.: 7(111%)2
(c) f(z) = In(sec(x)). Rta.: tanx
x? 323
(d) f(z) =32>In (1 — :c) Rta.: 18z*Inx + 622 — 922 In(1 — ) + -2
(e) f(z) = (cosz)”. Rta.: (cosz)” (In(cos(z)) — x tan(z))
r? -1 2z 2z 4z

0 1) =m(55). Rias 2 2 o

o) = In(z? — 1) o FoIn(z? 4+ 1) — Ifil In(2z% — 1)
(8) f(z)= In(z2 + 1) Rta.: (In(22 + 1))2

(2) Encuentre la derivada.
(a) h(t) =In(t+ vt2 —1). Rta.: t21— -
1 -1

(b) g(s) = s Rta.: m
C = m\/E a.: .'17\/5 hl(.’I}) L
(c) y . Rta.: ( NG + \/:E)

_ ,m ~ cos(mx) + msin(7mx)
(d) y = logy(e " cos(mx)). Rta.: — (In2) cos(z)
(e) y = 2= *1. Rta.: 2% *! (29& In(z) + xQ; 1)
() y = (Vo). Rta.: (vz)™" (m(\/:z) cos(z) + Si;g”))

C 2ya(a? —1)? . 2/x (2% — 1)2 1 e 2
©y=—"5= — Ria: = 5= <2x+x2—1 2(#—1))

L ‘ " L ‘ z . x(cos(z) — sin(x))
(h) y = (sin(x) + cos(x))". Rta.: (sin(x) + cos(z)) (ln(bm(m) + cos(z)) + sin(z) + cos(@) )

(3) Encuentre y' vy y”.

(a) y = 22 1n(2z). Rta.: y' = 2z In(2z) + g, y" =2In(2z) + g
(b) yzlz—;. Rta.: ¢y = 1—;31nx’y/,: _1—;3111%.



